TAIWANESE JOURNAL OF MATHEMATICS

Vol. 20, No. 1, pp. 13-24, February 2016

DOI: 10.11650/tjm.20.2016.4325

This paper is available online at http://journal.tms.org.tw

Shuffle Product Formulas of Two Multiples of Height-one Multiple Zeta Values

Chung-Yie Chang

Abstract. The classical Euler decomposition theorem expressed a product of two Riemann zeta values $\zeta(p)\zeta(q)$ as a sum of $\binom{p+q}{p}$ Euler double sums of weight p+q.

As a generalization of Euler decomposition theorem, we shall perform the shuffle product of two multiples of height-one multiple zeta values

$$\binom{j+m}{m}\zeta(\{1\}^{j+m-1}, r-\ell+2) \quad \text{and} \quad \binom{k-j+n}{n}\zeta(\{1\}^{k-j+n-1}, \ell+2)$$

with positive integers m, n and integers k, j, r, ℓ such that $0 \le j \le k, 0 \le \ell \le r$. Then we applied the resulted shuffle relation to produce weighted sum formulas such as

$$(k+1) \sum_{|\alpha|=k+r+2} \zeta(\alpha_0+1,\dots,\alpha_{k+1}+1) 2^{\alpha_{k+1}}$$

$$+2 \sum_{|\alpha|=k+r+1} \zeta(1,\alpha_0+1,\dots,\alpha_k+1) 2^{\alpha_k-\delta_{0k}}$$

$$= \frac{1}{2} \sum_{j=0}^{k} \sum_{\substack{\ell=0 \text{ forms} \\ \ell \text{ with } p}}^{r} (-1)^j (j+1) (k-j+1) \zeta(\{1\}^j, r-\ell+2) \zeta(\{1\}^{k-j}, \ell+2)$$

when both k and r are even. Here $\delta_{mn} = 0$ unless m = n and $\delta_{mm=1}$.

1. Multiple zeta values and their shuffle products

Let p and q be positive integers with $q \ge 2$. The classical Euler double sum $S_{p,q}$ is defined as [1, p. 253]

$$S_{p,q} = \sum_{m=1}^{\infty} \frac{1}{m^q} \sum_{n=1}^{m} \frac{1}{n^p}.$$

For an r-tuple of positive integers $\mathbf{s} = (s_1, s_2, \dots, s_r)$ with $s_r \geq 2$, the multiple zeta value or r-fold Euler sum $\zeta(\mathbf{s})$ is defines as [1–8,11]

(1.1)
$$\zeta(\mathbf{s}) = \sum_{1 \le n_1 \le n_2 \le \dots \le n_r} n_1^{-s_1} n_2^{-s_2} \cdots n_r^{-s_r}$$

Received January 16, 2014, accepted October 6, 2014.

Communicated by Wen-Ching Winnie Li.

2010 Mathematics Subject Classification. Primary: 40A25, 40B05; Secondary: 11M41, 11M01, 33E20. Key words and phrases. Multiple zeta values, Shuffle product, Euler decomposition theorem.

or in free dummy variables as

(1.2)
$$\sum_{n_1=1}^{\infty} \sum_{n_2=1}^{\infty} \cdots \sum_{n_r=1}^{\infty} n_1^{-s_1} (n_1 + n_2)^{-s_2} \cdots (n_1 + n_2 + \cdots + n_r)^{-s_r}.$$

The numbers r and $|s| = s_1 + s_2 + \cdots + s_r$ are called the depth and weight of $\zeta(s)$, respectively. Also the height of $\zeta(s)$ is the number of elements of the set

$$\{j \mid 1 \le j \le r, s_i > 1\}$$
.

For our convenience, we let $\{1\}^k$ be k repetitions of 1, so that

$$\zeta(\{1\}^3, 2, 4) = \zeta(1, 1, 1, 2, 4)$$
 and $\zeta(\{1\}^2, 3, \{1\}^3, 4) = \zeta(1, 1, 3, 1, 1, 1, 4)$.

Due to Kontsevich [4–8,13], multiple zeta values can be represented by iterated integrals (or Drinfeld integrals) over the simplex defined by

$$(1.3) E_{|\mathbf{s}|} : 0 < t_1 < t_2 < \dots < t_{|\mathbf{s}|} < 1$$

as

$$(1.4) \qquad \int_{E_{|s|}} \omega_1 \omega_2 \cdots \omega_{|s|},$$

where

$$\omega_j = \begin{cases} \frac{dt_j}{1 - t_j} & \text{if } j = 1, s_1 + 1, s_1 + s_2 + 1, \dots, s_1 + s_2 + \dots + s_{r-1} + 1; \\ \frac{dt_j}{t_j} & \text{otherwise.} \end{cases}$$

Sometimes, we simply write

(1.5)
$$\zeta(s_1, s_2, \dots, s_r) = \int_0^1 \omega_1 \omega_2 \cdots \omega_{|\mathbf{s}|}.$$

Once multiple zeta values are expressed as iterated integrals, the shuffle product of two multiple zeta values then take the form

(1.6)
$$\int_0^1 \omega_1 \omega_2 \cdots \omega_p \int_0^1 \omega_{p+1} \omega_{p+2} \cdots \omega_{p+q} = \sum_{\sigma} \int_0^1 \omega_{\sigma(1)} \omega_{\sigma(2)} \cdots \omega_{\sigma(p+q)},$$

where the sum is over all $\binom{p+q}{p}$ permutations σ of the set $\{1, 2, \ldots, p+q\}$ which preserve the relative orders of 1-forms $\omega_1\omega_2\cdots\omega_p$ and $\omega_{p+1}\omega_{p+2}\cdots\omega_{p+q}$. More precisely, for all $1 \leq i < j \leq p$ and $p+1 \leq i < j \leq p+q$, we have

$$\sigma^{-1}(i) < \sigma^{-1}(j).$$

The classical Euler decomposition theorem expresses the product $\zeta(p)\zeta(q)$, $p,q \geq 2$, in terms of weighted Euler double sums:

$$\zeta(p)\zeta(q) = \sum_{j=1}^{p} \binom{p+q-j-1}{p-j} \zeta(j, p+q-j) + \sum_{j=1}^{q} \binom{p+q-j-1}{q-j} \zeta(j, p+q-j)$$

or

$$\zeta(\ell+2)\zeta(r-\ell+2) = \sum_{\alpha_1+\alpha_2=r+3} \zeta(\alpha_1,\alpha_2+1) \left[\begin{pmatrix} \alpha_2 \\ \ell+1 \end{pmatrix} + \begin{pmatrix} \alpha_2 \\ r-\ell+1 \end{pmatrix} \right],$$

for a pair of integers r and ℓ with $0 \le \ell \le r$. The proof of the classical Euler decomposition theorem can be found in [2,4,5].

In this paper, we are going to preform the shuffle product of two multiples of multiple zeta values of height one

$$\binom{j+m}{m}\zeta(\{1\}^{j+m-1}, r-\ell+2) \quad \text{and} \quad \binom{k-j+n}{n}\zeta(\{1\}^{k-j+n-1}, \ell+2)$$

with m, n positive integers and integers k, j, r, ℓ such that $0 \le j \le k$, $0 \le \ell \le r$; through some particular integral representations developed by Eie. Indeed, we need the following propositions to express various multiple zeta values in various integrals over simplices and vice versa.

Proposition 1.1. [4,5] For a pair nonnegative integers p,q, we have

$$\zeta(\{1\}^p, q+2) = \frac{1}{(p+1)!q!} \int_0^1 \left(\log \frac{1}{1-t}\right)^{p+1} \left(\log \frac{1}{t}\right)^q \frac{dt}{t}$$
$$= \frac{1}{p!q!} \iint_{0 < t_1 < t_2 < 1} \left(\log \frac{1}{1-t_1}\right)^p \left(\log \frac{1}{t_2}\right)^q \frac{dt_1 dt_2}{(1-t_1)t_2}.$$

Proposition 1.2. [4,5] For nonnegative integers p, q, r, ℓ , we have

$$\sum_{|\alpha|=q+r+1} \zeta(\{1\}^{p-1}, \alpha_0 + 1, \dots, \alpha_{q-1}, \alpha_q + \ell + 1)$$

$$= \frac{1}{p!q!r!\ell!} \iint_{0 \le t_1 \le t_2 \le 1} \left(\log \frac{1}{1-t_1}\right)^p \left(\log \frac{1-t_1}{1-t_2}\right)^q \left(\log \frac{t_2}{t_1}\right)^r \left(\log \frac{1}{t_2}\right)^\ell \frac{dt_1 dt_2}{t_1 t_2}.$$

The shuffle products of two multiple zeta values we are going to perform are quite different from those according to the definition of shuffle product (1.6). Instead, we express our candidates in integrals of just one variable as

$$\int_0^1 f(t) \, \frac{dt}{t} \quad \text{and} \quad \int_0^1 g(u) \, \frac{du}{u},$$

so that the resulted shuffle relation is given by

$$\int_0^1 f(t) dt \cdot \int_0^1 g(u) du = \iint_{0 < t < u < 1} f(t)g(u) dt du + \iint_{0 < u < t < 1} f(t)g(u) dt du.$$

However, the main difficulty is to evaluate the two double integrals over two dimensional simplices in terms of multiple zeta values.

2. The special case
$$m = n = 1$$

A multiple zeta values of height one appears to be the form

$$\zeta(\{1\}^p, q+2)$$

with p,q nonnegative integers. It has the iterated integral representation

$$\int_{E_{m+n+2}} \prod_{j=1}^{p+1} \frac{dt_j}{1-t_j} \prod_{k=p+2}^{p+q+2} \frac{dt_k}{t_k}$$

or by Proposition 1.1, as a double integral

$$\frac{1}{p!q!} \iint_{0 < t_1 < t_2 < 1} \left(\log \frac{1}{1 - t_1} \right)^p \left(\log \frac{1}{t_2} \right)^q \frac{dt_1 dt_2}{(1 - t_1)t_2}$$

or just an integral

$$\frac{1}{(p+1)!q!} \int_0^1 \left(\log \frac{1}{1-t}\right)^{p+1} \left(\log \frac{1}{t}\right)^q \frac{dt}{t}.$$

Therefore the integral

$$\frac{1}{p!q!} \int_0^1 \left(\log \frac{1}{1-t}\right)^{p+1} \left(\log \frac{1}{t}\right)^q \frac{dt}{t}$$

represents the multiple zeta value $(p+1)\zeta(\{1\}^p, q+2)$. More general, for positive integer m, we obtain

$$(2.1) \qquad {m+p \choose m} \zeta(\{1\}^{p+m-1}, q+2) = \frac{1}{p!m!q!} \int_0^1 \left(\log \frac{1}{1-t}\right)^{p+m} \left(\log \frac{1}{t}\right)^q \frac{dt}{t}.$$

In the following, we are going to derive the shuffle product formula of

$$\binom{j+m}{m}\zeta(\{1\}^{j+m}, r-\ell+2)$$
 and $\binom{k-j+n}{n}\zeta(\{1\}^{k-j+n}, \ell+2)$

through their integral representations. Here m and n are positive integers and k, r, j, ℓ are nonnegative integers such that

$$0 \le j \le k$$
 and $0 \le \ell \le r$.

First we consider the case m = n = 1.

Theorem 2.1. For nonnegative integers k, r, j, ℓ such that

$$0 \le j \le k$$
 and $0 \le \ell \le r$,

the shuffle product formula of

$$(j+1)\zeta(\{1\}^j, r-\ell+2)$$
 and $(k-j+1)\zeta(\{1\}^{k-j}, \ell+2)$

is given by

$$(j+1)\zeta(\{1\}^{j}, r-\ell+2) \cdot (k-j+1)\zeta(\{1\}^{k-j}, \ell+2)$$

$$= \sum_{p+q=k} (p+1)(p+2) \binom{p}{j} \sum_{|\alpha|=q+r+1} \zeta(\{1\}^{p+1}, \alpha_0+1, \dots, \alpha_q+1) \binom{\alpha_q-\delta_{0q}}{\ell+1}$$

$$+ \sum_{p+q=k} (p+1)(q+1) \binom{p}{j} \sum_{|\alpha|=q+r+2} \zeta(\{1\}^{p}, \alpha_0+1, \dots, \alpha_q, \alpha_{q+1}+1) \binom{\alpha_{q+1}}{\ell+1}$$

$$+ \sum_{p+q=k} (p+1)(p+2) \binom{p}{k-j} \sum_{|\alpha|=q+r+1} \zeta(\{1\}^{p+1}, \alpha_0+1, \dots, \alpha_q+1) \binom{\alpha_q-\delta_{0q}}{r-\ell+1}$$

$$+ \sum_{p+q=k} (p+1)(q+1) \binom{p}{k-j} \sum_{|\alpha|=q+r+2} \zeta(\{1\}^{p}, \alpha_0+1, \dots, \alpha_q, \alpha_{q+1}+1) \binom{\alpha_{q+1}}{r-\ell+1}.$$

Here $\delta_{0q} = 0$ unless q = 0 and $\delta_{00} = 1$.

Proof. First we express the product $(j+1)\zeta(\{1\}^j, r-\ell+2) \cdot (k-j+1)\zeta(\{1\}^{k-j}, \ell+2)$ as a separable double integral

$$\frac{1}{j!(k-j)!\ell!(r-\ell)!} \int_0^1 \int_0^1 \left(\log \frac{1}{1-t}\right)^{j+1} \left(\log \frac{1}{1-u}\right)^{k-j+1} \left(\log \frac{1}{t}\right)^{r-\ell} \left(\log \frac{1}{u}\right)^{\ell} \frac{dt}{t} \frac{du}{u}.$$

Then decompose the region of integration $I^2 = [0, 1] \times [0, 1]$ into two simplices of dimension two as

$$D_1: 0 < t < u < 1$$
 and $D_2: 0 < u < t < 1$.

In the following, we want to evaluate the integrations over D_1 and D_2 in terms of sums of multiple zeta values.

On the first simplex $D_1: 0 < t < u < 1$, we substitute the factors

$$\left(\log \frac{1}{1-u}\right)^{k-j}$$
, $\log \frac{1}{1-u}$ and $\left(\log \frac{1}{t}\right)^{r-\ell}$

by their binomial expansions

$$\sum_{a+b=k-j} \frac{(k-j)!}{a!b!} \left(\log \frac{1}{1-t} \right)^a \left(\log \frac{1-t}{1-u} \right)^b, \quad \log \frac{1}{1-t} + \log \frac{1-t}{1-u}$$

and

$$\sum_{c+d=r-\ell} \frac{(r-\ell)!}{c!d!} \left(\log \frac{u}{t}\right)^c \left(\log \frac{1}{u}\right)^d.$$

So by Proposition 1.2, the value of the integration over D_1 , in terms of multiple zeta values, is

$$\sum_{a+b=k-j} {j+a+1+1 \choose j, a, 1, 1} \sum_{c+d=r-\ell} {d+\ell \choose \ell} \times \sum_{|\alpha|=b+c+1} \zeta(\{1\}^{j+a+1}, \alpha_0+1, \dots, \alpha_b+d+\ell+1) + \sum_{a+b=k-j} {j+a+1 \choose j, a, 1} (b+1) \sum_{c+d=r-\ell} {d+\ell \choose \ell} \times \sum_{|\alpha|=b+c+2} \zeta(\{1\}^{j+a}, \alpha_0+1, \dots, \alpha_b, \alpha_{b+1}+d+\ell+1).$$

Here

$$\begin{pmatrix} k_1 + k_2 + \dots + k_n \\ k_1, k_2, \dots, k_n \end{pmatrix}$$

is the multinomial coefficient

$$\frac{(k_1+k_2+\cdots+k_n)!}{k_1!k_2!\cdots k_n!}.$$

With p = j + a and q = b as new dummy variables in place of a, b, the value can be rewritten as

$$\sum_{p+q=k} (p+1)(p+2) \binom{p}{j} \sum_{|\alpha|=q+r+1} \zeta(\{1\}^{p+1}, \alpha_0+1, \dots, \alpha_q+1) \binom{\alpha_q-\delta_{0q}}{\ell+1} + \sum_{p+q=k} (p+1)(q+1) \binom{p}{j} \sum_{|\alpha|=q+r+2} \zeta(\{1\}^p, \alpha_0+1, \dots, \alpha_q, \alpha_{q+1}+1) \binom{\alpha_{q+1}}{\ell+1}.$$

To evaluate the integration over $D_2: 0 < u < t < 1$, we simply exchange the roles of j, ℓ with $k - j, r - \ell$ and obtain the values as

$$\sum_{p+q=k} (p+1)(p+2) \binom{p}{k-j} \sum_{|\alpha|=q+r+1} \zeta(\{1\}^{p+1}, \alpha_0+1, \dots, \alpha_q+1) \binom{\alpha_q-\delta_{0q}}{r-\ell+1} + \sum_{p+q=k} (p+1)(q+1) \binom{p}{k-j} \sum_{|\alpha|=q+r+2} \zeta(\{1\}^p, \alpha_0+1, \dots, \alpha_q, \alpha_{q+1}+1) \binom{\alpha_{q+1}}{r-\ell+1}.$$

Therefore, we complete the proof.

On the simplex $D_1: 0 < t < u < 1$, we make a change of variables:

$$t_1 = 1 - u, \quad t_2 = 1 - t.$$

Then the integration over D_1 is the transformed into

$$\frac{1}{j!\ell!(k-j)!(r-\ell)!} \iint_{0 < t_1 < t_2 < 1} \left(\log \frac{1}{1-t_1} \right)^{\ell} \left(\log \frac{1}{1-t_2} \right)^{r-\ell} \times \left(\log \frac{1}{t_1} \right)^{k-j+1} \left(\log \frac{1}{t_2} \right)^{j+1} \frac{dt_1}{1-t_1} \frac{dt_2}{1-t_2}.$$

In a similar way as above, the value of the above is equal to

$$(j+1)(k-j+1)\sum_{g+h=r} {g \choose \ell} \sum_{|\beta|=h+k+3} \zeta(\{1\}^g, \beta_0, \dots, \beta_n, \beta_{n+1}+1) {\beta_{n+1} \choose j+1}.$$

So we obtain the following corollary.

Corollary 2.2. For nonnegative integers k, j, r, ℓ such that

$$0 \le j \le k$$
 and $0 \le \ell \le r$,

we have

$$\sum_{p+q=k} (p+1)(p+2) \binom{p}{j} \sum_{|\alpha|=q+r+1} \zeta(\{1\}^{p+1}, \alpha_0+1, \dots, \alpha_q+1) \binom{\alpha_q-\delta_{0q}}{\ell+1}$$

$$+ \sum_{p+q=k} (p+1)(q+1) \binom{p}{j} \sum_{|\alpha|=q+r+2} \zeta(\{1\}^{p+1}, \alpha_0+1, \dots, \alpha_q, \alpha_{q+1}+1) \binom{\alpha_{q+1}}{\ell+1}$$

$$= (j+1)(k-j+1) \sum_{q+h=r} \binom{g}{\ell} \sum_{|\beta|=h+k+3} \zeta(\{1\}^g, \beta_0, \dots, \beta_n, \beta_{n+1}+1) \binom{\beta_{n+1}}{j+1}.$$

3. The general case

To produce the shuffle product formula of

$$\binom{j+m}{m}\zeta(\{1\}^{j+m-1}\,,r-\ell+2)\quad\text{and}\quad \binom{k-j+n}{n}\zeta(\{1\}^{k-j+n-1}\,,\ell+2)$$

for positive integers m and n, we express their product by (2.1) as the following separable double integral

$$\frac{1}{j!(k-j)!m!n!\ell!(r-\ell)!} \int_0^1 \int_0^1 \left(\log \frac{1}{1-t}\right)^{j+m} \left(\log \frac{1}{1-u}\right)^{k-j+n} \times \left(\log \frac{1}{t}\right)^{r-\ell} \left(\log \frac{1}{u}\right)^{\ell} \frac{dt}{t} \frac{du}{u}.$$

As mentioned earlier, we decompose the region of integration $I^2 = [0, 1] \times [0, 1]$ into two simplices of dimension two as

$$D_1: 0 < t < u < 1$$
 and $D_2: 0 < u < t < 1$.

During the evaluation of the integration over $D_1 : 0 < t < u < 1$, we substitute the factor

$$\left(\log \frac{1}{1-u}\right)^{k-j+n}$$

by the product of

$$\sum_{a+b=k-j} \frac{(k-j)!}{a!b!} \left(\log \frac{1}{1-t}\right)^a \left(\log \frac{1-t}{1-u}\right)^b$$

and

$$\sum_{g+h=n} \frac{n!}{g!h!} \left(\log \frac{1}{1-t} \right)^g \left(\log \frac{1-t}{1-u} \right)^h.$$

Also, we substitute the factor $\left(\log \frac{1}{t}\right)^{r-\ell}$ by its binomial expansion

$$\sum_{c+d=r-\ell} \frac{(r-\ell)!}{c!d!} \left(\log \frac{u}{t}\right)^c \left(\log \frac{1}{u}\right)^d,$$

so that by Proposition 1.2 the value of the integration over D_1 is

$$\sum_{a+b=k-j} \sum_{g+h=n} {j+m+a+g \choose j, m, a, g} {b+h \choose b} \sum_{c+d=r-\ell} {d+\ell \choose d} \times \sum_{|\alpha|=b+h+c+1} \zeta(\{1\}^{j+m+a+g-1}, \alpha_0+1, \dots, \alpha_{b+h}+d+\ell+1).$$

Let p = a + j, q = b be new dummy variables. Then the above value can be rewritten as

$$\sum_{p+q=k} \sum_{g+h=n} {p \choose j} {m+p+g \choose m, p, g} \sum_{c+d=r-\ell} {d+\ell \choose d} \times \sum_{|\alpha|=q+h+c+1} \zeta(\{1\}^{m+p+g-1}, \alpha_0+1, \dots, \alpha_{q+h}+d+\ell+1),$$

or

$$\sum_{p+q=k} \sum_{g+h=n} {p \choose j} {m+p+g \choose m, p, g} {q+h \choose h}$$

$$\times \sum_{|\alpha|=q+h+r+1} \zeta(\{1\}^{m+p+g-1}, \alpha_0+1, \dots, \alpha_{q+h}+1) {\alpha_{q+h}-\delta_{0,q+h} \choose \ell+1}.$$

Again, exchange the roles of j, ℓ with k - j and $r - \ell$, we obtained the value of the integration over D_2 in the following:

$$\sum_{p+q=k} \sum_{g+h=n} {p \choose k-j} {n+p+g \choose n, p, g} {q+h \choose h}$$

$$\times \sum_{|\alpha|=g+h+r+1} \zeta(\{1\}^{n+p+g-1}, \alpha_0+1, \dots, \alpha_{q+h}+1) {\alpha_{q+h}-\delta_{0,q+h} \choose r-\ell+1}.$$

Therefore, we have the following general theorem.

Theorem 3.1. For a pair of positive integers m, n and integers k, j, r, ℓ such that

$$0 \le j \le k$$
 and $0 \le \ell \le r$,

the shuffle product formula of multiple zeta values

$$\binom{j+m}{j}\zeta(\{1\}^{j+m-1}, r-\ell+2) \quad and \quad \binom{k-j+n}{n}\zeta(\{1\}^{k-j+n-1}, \ell+2)$$

is given by

$$\begin{pmatrix} j+m \\ j \end{pmatrix} \zeta(\{1\}^{j+m-1}, r-\ell+2) \binom{k-j+n}{n} \zeta(\{1\}^{k-j+n-1}, \ell+2)$$

$$= \sum_{p+q=k} \sum_{g+h=n} \binom{p}{j} \binom{m+p+g}{m, p, g} \binom{q+h}{h}$$

$$\times \sum_{|\alpha|=q+h+r+1} \zeta(\{1\}^{m+p+g-1}, \alpha_0+1, \dots, \alpha_{q+h}+1) \binom{\alpha_{q+h}-\delta_{0,q+h}}{\ell+1}$$

$$+ \sum_{p+q=k} \sum_{g+h=n} \binom{p}{k-j} \binom{n+p+g}{n, p, g} \binom{q+h}{h}$$

$$\times \sum_{|\alpha|=q+h+r+1} \zeta(\{1\}^{n+p+g-1}, \alpha_0+1, \dots, \alpha_{q+h}+1) \binom{\alpha_{q+h}-\delta_{0,q+h}}{r-\ell+1} .$$

4. Applications

Multiply both sides of the shuffle relation in Theorem 2.1 by $(-1)^{j+\ell}$ and then sum over all j, ℓ with $0 \le j \le k$, $0 \le \ell \le r$, we obtain the following theorem.

Theorem 4.1. For a pair of nonnegative integers k, r with k + r even, then for $k \ge 1$

$$(k+1)\zeta(k+r+4) - (k-1)\sum_{|\alpha|=k+r+2} \zeta(1,\alpha_0,\dots,\alpha_k+1)$$

$$-2\sum_{|\alpha|=k+r+1} \zeta(1,1,\alpha_0,\dots,\alpha_{k-1}+1)$$

$$= \frac{1}{2}\sum_{j=0}^{k} \sum_{\ell=0}^{r} (-1)^{j+\ell} (j+1)(k-j+1)\zeta(\{1\}^j,r-\ell+2)\zeta(\{1\}^{k-j},\ell+2).$$

Remark 4.2. In light of the restriction sum formula [4–6, 9, 12, 13], we have

$$\sum_{|\alpha|=k+r+2} \zeta(1,\alpha_0,\ldots,\alpha_k+1) = \sum_{|c|=k+2} \zeta(c_1,c_2+r+2)$$

and

$$\sum_{|\alpha|=k+r+1} \zeta(1,1,\alpha_0,\ldots,\alpha_{k-1}+1) = \sum_{|d|=k+2} \zeta(d_1,d_2,d_3+r+2).$$

Thus the assertion of the above theorem tells us that a sum of multiple zeta values of depth 3 and even weight can be written as a multiple of double Euler sums of even weight plus some single zeta values.

On the other hand, if we multiply both sides of the shuffle relation in Theorem 2.1 by $(-1)^{\ell}$ and then sum over all $0 \le j \le k$ and $0 \le \ell \le r$, we obtain the following theorem.

Theorem 4.3. For a pair of nonnegative integers k, r with r even, then we have

$$\sum_{p+q=k} 2^{p}(p+1)(p+2) \sum_{|\alpha|=q+r+1} \zeta(\{1\}^{p+1}, \alpha_0+1, \dots, \alpha_q+1)$$

$$+ \sum_{p+q=k} 2^{p}(p+1)(q+1) \sum_{|\alpha|=q+r+2} \zeta(\{1\}^{p}, \alpha_0+1, \dots, \alpha_{q+1}+1)$$

$$= \frac{1}{2} \sum_{j=0}^{k} \sum_{\ell=0}^{r} (-1)^{\ell} (j+1)(k-j+1) \zeta(\{1\}^{j}, r-\ell+2) \zeta(\{1\}^{k-j}, \ell+2).$$

Note that the shuffle product of two multiple zeta values of weight m and n will produce $\binom{m+n}{m}$ multiple zeta values of weight m+n. Therefore the shuffle product of

$$(j+1)\zeta(\{1\}^j, r-\ell+2)$$
 and $(k-j+1)\zeta(\{1\}^{k-j}, \ell+2)$

will produce

$$(j+1)(k-j+1)\binom{k+r+4}{j+r-\ell+2}$$

multiple zeta value of weight k + r + 4. After a similar procedure as before, we obtain the following consequences from the previous two theorems.

Corollary 4.4. For a pair of nonnegative integers k, r with k + r even, we have

$$\frac{1}{2} \sum_{j=0}^{k} \sum_{\ell=0}^{r} (-1)^{j+\ell} (j+1)(k-j+1) \binom{k+r+4}{j+r-\ell+2}$$
$$= (k+r+3) \binom{k+r}{k}.$$

Corollary 4.5. For a pair of nonnegative integers k, r with r even, we have

$$\frac{1}{2} \sum_{j=0}^{k} \sum_{\ell=0}^{r} (-1)^{\ell} (j+1)(k-j+1) \binom{k+r+4}{j+r-\ell+2}
= \sum_{p+q=k} \left\{ 2^{p} (p+1)(p+2) \binom{q+r}{q} + 2^{p} (p+1)(q+1) \binom{q+r+1}{q+1} \right\}.$$

At last, we multiply both sides of the shuffle relation by $(-1)^j$ and then sum over $0 \le j \le k$ and $0 \le \ell \le r$, we obtain the following theorem.

Theorem 4.6. For a pair of nonnegative integers k, r with k even, then

$$(k+1) \sum_{|\alpha|=k+r+2} \zeta(\alpha_0+1,\dots,\alpha_{k+1}+1)(2^{\alpha_{k+1}}-1)$$

$$+2 \sum_{|\alpha|=k+r+1} \zeta(1,\alpha_0+1,\dots,\alpha_k+1)(2^{\alpha_k-\delta_{0k}}-1)$$

$$= \frac{1}{2} \sum_{j=0}^k \sum_{\ell=0}^r (-1)^j (j+1)(k-j+1)\zeta(\{1\}^j,r-\ell+2)\zeta(\{1\}^{k-j},\ell+2).$$

Also when both k and r are even, we have

$$(k+1) \sum_{|\alpha|=k+r+2} \zeta(\alpha_0+1, \dots, \alpha_{k+1}+1) 2^{\alpha_{k+1}}$$

$$+ 2 \sum_{|\alpha|=k+r+1} \zeta(1, \alpha_0+1, \dots, \alpha_k+1) 2^{\alpha_k-\delta_{0k}}$$

$$= \frac{1}{2} \sum_{j=0}^{k} \sum_{\substack{\ell=0 \ \ell \text{ even}}}^{r} (-1)^j (j+1) (k-j+1) \zeta(\{1\}^j, r-\ell+2) \zeta(\{1\}^{k-j}, \ell+2).$$

References

- [1] B. C. Berndt, Ramanujan's Notebooks, Part I and II, Springer-Verlag, New York 1985, 1989. http://dx.doi.org/10.1007/978-1-4612-1088-7 http://dx.doi.org/10.1007/978-1-4612-4530-8
- [2] D. Borwein, J. M. Borwein and R. Girgensohn, Explicit evaluation of Euler sums,
 Proc. Edinburgh Math. Soc. (2) 38 (1995), no. 2, 277-294.
 http://dx.doi.org/10.1017/s0013091500019088
- [3] R. E. Crandall and J. P. Buhler, On the evaluation of Euler sums, Experiment. Math. 3 (1994), no. 4, 275–285. http://dx.doi.org/10.1080/10586458.1994.10504297
- [4] M. Eie, Topics in Number Theory, Monographs in Number Theory 2, World Scientific,
 Hackensack, NJ, 2009. http://dx.doi.org/10.1142/7036
- [5] ______, The Theory of Multiple Zeta Values with Applications in Combinatorics, Monographs in Number Theory 7, World Scientific, Hackensack, NJ, 2013. http://dx.doi.org/10.1142/8769
- [6] M. Eie, W.-C. Liaw and Y. L. Ong, A restricted sum formula among multiple zeta values, J. Number Theory 129 (2009), no. 4, 908–921. http://dx.doi.org/10.1016/j.jnt.2008.07.012

- M. Eie and C.-S. Wei, Generalizations of Euler decomposition and their applications,
 J. Number Theory 133 (2013), no. 8, 2475-2495.
 http://dx.doi.org/10.1016/j.jnt.2013.01.010
- [8] M. Eie, T.-Y. Lee and Y. L. Ong, Applications of shuffle products of multiple zeta values in combinatorics, J. Comb. Number Theory 4 (2013), no. 3, 145–160.
- [9] A. Granville, A decomposition of Riemann's zeta-function, in: Analytic Number Theory, (Kyoto, 1996), 95–101; London Math. Soc. Lecture Note Ser. 247, Cambridge Univ. Press, Cambridge, 1997.
 http://dx.doi.org/10.1017/cbo9780511666179.009
- [10] L. Guo and B. Xie, Weighted sum formula for multiple zeta values, J. Number Theory 129 (2009), no. 11, 2747–2765. http://dx.doi.org/10.1016/j.jnt.2009.04.018
- [11] M. E. Hoffman, Multiple harmonic series, Pacific J. Math. 152 (1992), no. 2, 275–290. http://dx.doi.org/10.2140/pjm.1992.152.275
- Y. Ohno, A generalization of the duality and sum formulas on the multiple zeta values,
 J. Number Theory 74 (1999), no. 1, 39-43.
 http://dx.doi.org/10.1006/jnth.1998.2314
- [13] Y. L. Ong, M. Eie and W.-C. Liaw, On generalizations of weighted sum formulas of multiple zeta values, Int. J. Number Theory 9 (2013), no. 5, 1185-1198. http://dx.doi.org/10.1142/s179304211350019x

Chung-Yie Chang

Department of Applied Mathematics, Tatung University, Taiwan

E-mail address: cychang@ttu.edu.tw